MW a7 0N 2,1 9" .70

The ox of his friend, etc. — o912 YN MY

OVERVIEW

The X713 discusses what ¥"7 means when he states that w7pi certainly collects
from n>7v. It cannot refer to a case where an ordinary ox gored an ox of wip; for
the 77710 states that one is liable (only) if an ordinary ox gores 7y1 "Ww,' inferring
that he is exempt if he gores a wpn YW w. It would seem from the X723 that we
cannot find a case where one pays w7pn for damages. However the exclusion of
1Y MW is written only by 172, why are not the other "1 obligated to pay, if they
damaged w7pn?! Our mdoIn will discuss this issue.

MooIN asks:
= 11¥9 29N XY onnT 2\’)‘1‘,71111 NN PRNY F2R) jva nn‘,-nba )2}

It is astounding! Let the X3 establish the ruling of ¥"3 that wpa> 1"'?), by &
®3m which damaged w7pn, where he will (seemingly) be 2n, for there (by v

5371) the 7790 does not write 19, so there is no reason to exclude wps by 2", as there is
by 197 where the 770 writes 7y7 explicitly.

mooIn anticipates that there may be other reasons why we exclude 23 1w from paying if they
damaged w7pn, and negates them:
= ANINNN HIYIN NIRRT 99919 XD 19PN

And we cannot derive that 311 7w is 2o by w7pi from 7P (just as 1P is wo
WTPI2 SO too 237 W), since 3P is not initially a T¥% (initially 7p pays only a pr1 >xn),
that is why it is w7pn2 7w, However, 237 1w which are 1n%nnn 179, and are more i than 17p,
may be 211 by wIpH.

nmoIN negates an additional possibility to have w7pna Mwd 23 w:
=205 MHYN PIYY NON NHAPNI NI 13299% KD 1) 90 ©HYS NN NNNT v N1

And we cannot derive the 15 of w7p2 9371 Jw through the 7w 57913 of 573901 Nnn
no2 avwd; (we should use this mw 77°13 to derive the Mo of 2371 1w by WP from
17?); for this mw 77°13 was accepted only for the purpose of deriving 2w

payments for all 1211, but not to be used for other purposes, including that 371 @ are WD
wIpa.

Uy x5 [Dwswn] ninw.
* One’s ox either ate or trampled the property of w7p.
? X, 2°¥%. The ®m3 used this 7w 771 to derive the 27 of 20 by all (twenty four n12aR) 7°p11.
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moon will now prove his point that 131 77°n1 nAN is a limited ",
- 41’\’)‘1‘,71)311 DY D99) D39 NIV PNNRVN INDIT 1YVIY Y991 YD INY

For if this w"1 can be utilized for everything, then let all the 1Pt be exempt
from payment if the damaged item was hidden (let us derive it from WX which is
T2 Mwd), and they should likewise be M2 if they damaged 2''7192 (just as 1" w
are 1"1772 2Mwo) and MWd from damaging utensils and N33 that are unfit (just as
M1 is PWIPIMT 220521 22952 Mwd). The fact that it is not so, proves that the w1 of 121 71N NAN is

limited only to deriving 2v°», and we cannot derive anything else (including w7pi2 70o) through
it. The question remains why are 237 Jw exempt from paying if they damaged w7pn?!

mooIn answers; first N190IN establishes the facts that all 1°p11 are Mo by wpa, and then later

moo1n will explain the reason:
- 51",7?’)11 V92 2592 NDMITI WTPNA 1910 PP INDIDT 91217 UM

And one can say; that all damages are exempt by 27pn as is evident in 7150
*»w17° in the beginning of P17 P70 -

- SYTPA SY MY KDY 1NYT MY NN XA TPDT TWINA IN 411997 1IN 113 0NN NPT
For the "n%w1 states there; ‘what are we discussing? If it is o1 war, it
cannot be 211, for we learnt in the @ 79 92 and not a wpr R’ .

= 71035 191 PRI VPTAY PP NN 29 23N NN 1N YD1 IN)
And if we are discussing damages done by a person to ¥7p, he is also not 21
for nn''2 taught there are obligations to pay for damages to ordinary people but

there are no damages for w7p!
= 120 PTaY NI OHY 991 MMINA NN
It must only be in a case where one said I owe a 717 to the nsai P72 (improvement
of the p"»m°2), then he must pay from n>7°v’. This concludes the citation from the 5w T,
mMooIN continues -
- 91N DTN N 9393 KDY Jwa KXY U1PNa PP NNIWN KYT yHun

It is evident from this *n%21° that there can be no laws of damages by w7p:

4 TWIPMAN 2200 are MI127p that became unfit for the nam and were redeemed. If they fell into a M2 there is no 211
Pn12wn since we cannot fulfill the rule of 17 777> nnm. We are required to bury the 1wTpni °2105 M and cannot feed
it to the dogs. See “» 11"7 QW *"w 2,1 ]?3|?5 hqulabs

R0 PO

% The "n%un cites there wpa> 1P (as ¥" states here). The *»5w1 then asks (as does our XIm3) what are we
referring to?

7 The commentaries explain that 7p>11 7w refers to damages done by animals (to animals). They are called w>:
1213, because the person by not watching them prepares them to do damage. See the N w32 *nanw 3' 3,0 mwn
P71 DR NI,

¥ It would seem that the *»5>w1 derives the WP 1107 P11 Mud from 17w MW, See MW A"7 nYMN2 "W,

? " may perhaps derive this from p>m% 79 998> *3. See later in this mooIn (footnote # 12).
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neither through 32 nor %37 nor a person who damages. In all cases they would be
s -
- 31 S5y 90 MmN NN

The only way one is liable to w777 is when he says I am obligating myself to give
a 7an for the n°277 273; in that case if he wishes to pay with ¥p7p it must be n 7.

mooin offers an additional proof that there is no wpn® PP -
= IND MAN 1NDIINY Habvrun oha 1PNV D202 (v 97 mpy) NINT 1°H)5HN02 yNRYN 129

And this is also indicated in our ;71w» where it is taught that one is obligated to
pay if he damaged assets where there is no possibility of m%°w» (this excludes

property of w7p2n), and the 71wn is referring to all the N2 (that they are wpna Mwd) -
= DTN 1% YN 9INT INDD OTINT PPN 199N

And even damages that are done by a person are exempt from payment,

according to the one (27) who maintains that 7va» in the 71wn refers to a man.
We see from this 71wn as well that there is no payment for damaging w7pn.

Mmoo anticipates a difficulty:
- YNIN DOWN N1 Prab V49 25989 95 (:0s 1 n72) INIWNA INIDY ININT N

And that which SRm»w states in 98w P79, the 710 writes ‘if a man eats TP,
he has to add a fifth, etc.” the word ‘eats’ excludes one who damages v7p77; where

he does not pay the w21, One pays the wmn only if he eats the w7pm, but not if he damages

or destroys it. This concludes the citation from Xw.
= 2N )P NN YNRYUN)

This indicates that he is only exempt from paying the wnm, however he is

obligated to pay the principal,; this is in contradiction to what 5010 maintained that there
are no payments for damaging w7pr!

N1B0IN answers:
- 1329412 1399

The 177 payment is due only 3129723 however 7107 1», one is entirely exempt from paying
w7pn for any damages.

moon will now explain why there are no P11 payments by w7pi:
= DTN )IPN 2999) VIPNA Y027 PP INYT AN

10 See 1 mix (8,7) 7"210 why the *n?w17 is not disturbed by the question 1pr1a 3 19> 12w 1"'va% on.

' 79291 refers to the prohibition of deriving a benefit from objects which belong to w7ps.

1295 25 [mKR] Xp™. The P09 reads 13 ¥H¥ WPWNAN (DM MW WP YK % WK

" The p10o is actually discussing 7217n; see however later in this Moo that it applies to w7p as well.
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And it seems that we derive that the other P31 (besides 177 and 712) are WD

by wps, from 399 (where WP is 70D because of 17¥7) and 2R (who is exempt on

account of 70K »D) -
- w1pn 19Y 99 Yorwrminn »9100 13 9091 MNam

And also from =12, which is exempt from paying (even) for Pw7pIam S0, and

72 is certainly v for actual TP, We derive all the other 1°p1 from these three (27X 1P
272Y).

mooin asks:
- NPNY DNIN YWIY YUY 119 119191 )V 132952 2291 9NN ON)

And if you will say; how can we derive 32 from all of them (27X 712 17p); for 1w
is stricter since she derives pleasure when she damages, as opposed to 21 278 179

where there is no 1X17. Therefore even though 7121 27X 17p are 7Wd by w7pH, nevertheless W
which is stricter should be 217!

n90IN answers:
= 9592 MDY 21 DY PI1NRN D193 PIINN DTN 29NNND MINI 99T 9D YN

And one can say; that it is fitting that a person, who damages with his hands,
should be more liable for any loss he causes, than a damage which is caused by

merely sending out one’s cattle. The xn of Jw that Ap>17% 7X17 w° cannot diminish the
X of 07X; where it is the actual person that is doing the damage and not merely his
belongings. Therefore 7R is more M»1 than MW, and if (even) O7X, who is most 7, is MWD
WwIpPn3, it (certainly) applies to w.

mooIn asks an additional question:
- ¥x;93 Hans 91 NN Y N1nb NIPNT AN9T YT YIRN ON)

And if you will say; why does the 7790 need to write ¥1¥9 (to exclude 79 from
paying w7pr1), when we derive it from oK %> -
- TN wapn N3nNna YUIPN (o qn NP NIDMI NIPNTI
As it is mentioned in 7%°¥» noon that the 77710 compares w7ps to 77277n -
- 9909 7Y PO NPANT 9 Y2 WP AN PIT1Y VA9 YINY 3 23N NN NN

' See previous footnote # 4.

'> mooin does not ask why we need 12 7 N to exclude WA *2100 MW by M3; for we could not derive it from
958> *3 which is discussing actual WP, not 1PwIPMAT *2100 MW which is 2°%v2 1m0, [In addition, the oo of 7° N
17 is necessary °913? (to teach us that 2"1°21 777212 0°%501 D9¥2).]

' See “Thinking it over’ # 1.

7 There is a xvn xon w"n. It says (10,7 RIP™) 72w32 axvm by WP and it says in (22,7 [17p] 92712) concerning 311N
that Xun 19y Wwn k9.
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Just as by m%79n it is written o8> 5> which excludes a p1% from payment so too

by w7pn anything that is edible and is damaged one is "2 -
— onn NIPNTI N9IINT 3190 NPT IN)

And not specifically something that is edible is excluded; but rather it excludes

all items by w7p as is mentioned there. The question is once we know that an P17 DX
is M5 by wpA, then certainly all other o>t are MWDo (as MOHOIN just mentioned); why is there a
need for iy Mmw?"’

N1B0IN answers:
- UTDN PO 0T JNIUNRT INY INT 1N W

And one can say; that if we would not have found explicitly elsewhere that one

who damages 2P is W2 (as we find by ¥y W) -
= IND WNIN VYN RIN 71D V99 DN 191 )9PYIT NN ND

We would not have interpreted 28> %> to exclude a P> completely from

payment; but rather only to exclude from paying the w1 alone. However, now that
we know that by 1727 7°31 he is entirely 7105 by w7pn (from 1737 1w),”° we can assume that the
07 of P I vI1 HIRY °3 refers to the principal as well as to the wnn.

mMooIN anticipates a question:
= NI 19T 1N )P PO 29N DY 29N NNIINA YINY 257 2) DY 9N

And even though the 7105 of oK% 52 is written concerning 7217 (if a HXW” eats
the 7170 which belongs to a 772), and there the P> (if he damaged the 7170 and
did not eat it), is 3’1 for the 199 (not the w»r), since the 72170 is the money of

the 3772, Seemingly since we derive the exclusion of wpi7 from this same P09 as 7P1N; we
should assume that just as a 72170 P is 7992 2°°11 so too should a w7pn p 12 be 17p2 2°°1. This
would contradict, what was said above!

mooIn responds:
=P 29531 51939 177 XIPINN NIPN NIN 7293 XY DIN? 994 NP INNN 0PN Yon

Nevertheless we do not derive from this o5 of 28> 52 that one who damages

'8 The xma there states that if WIpn was 7371 X921 0301 (it depreciated but no benefit was derived) he is 7.

' mooIn may (also) be asking on what he previously stated that we derive Pp11 8w from ™21 78 17p; seemingly we
can derive P11 XY from 27X alone, without 7121 77p.

2 We also know that 111 is WP Mo, and therefore we can derive most of the 12 (excluding 1w [which is 7RI w°
7P 1n2] and o7X) that they are 7o by WP from a mwi 7% of M1 1. It would therefore follow that the 77N is vynn
?°1a71 07X even from the principal, and we can derive 72 from 27X.

2! The avn of 1P "m7wn of this P09 is not (only) when he ate someone else’s 170, but rather if a 2X7w” ate his own
7170, etc. he is responsible to replenish the amount of ;77170 he ate (with a food that can become n17n), and it is
designated as 71m170. In such a case, if he is > his own 772170 he is completely 7vs.
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72170 s 1792 2°m, for the 7109 excludes the P from Pm>wn; but rather we derive
the 727%wn 21°1 for a 7170 P from a different pep, for the 7mn pom is like one
who robs his friend or damages him, where the 1213 and > certainly are required to
pay. Similarly the 373 N0 211 is causing damage to the assets of a 1775 and he must reimburse

him. However, by wipi where no individual is being damaged, only w7ps, then there is no
payment due (just as if he damaged his own 72170).

mooIN anticipates an additional difficulty:
- 937 591 NONN KY 29392 729919 NOINT (13 sy TINT INDY 17912

However according to the one who maintains that there is a 9912 payment by

a1 (as well as by 17p), then 237 cannot be derived from all these (1121 o7x 17p) -
= NHYNI DY 9915 DHWN NIT N2 DN 19PY DT

For 7121 278 19 are more lenient than 237, for they do not pay 291> the first time
they killed;** however 231 pays 1913 the first time it kills because 231 is a 2> nnn 7m0,

mooin offers a partial solution:
:NM%) 0N YV 1919 (ov) 1YY SPNT POV 229

However according to ©v''v" who maintains that there can be a complete 291

(even) by a an it is understood that 737 can be derived from 121 177, because it is possible
for 7P to pay 0%w 9913 the first time. We cannot therefore ask that 237 is more i for it pays
7913 the first time, for according to v"2 we find that an 17 can also pay 1913 the first time.

SUMMARY

1P is Mo by wIpn from the 7% of WP YW MW K?Y 1Y MW, M2 is Mwd by W
WP 200 and wIpa from the p109 of 12 77 M. 0TXR is MWD by WP from the
PYTN? WD oK °3 P09, All other 2o including %3 w0 are Mo by w1pa for they
are derived from (721 17p) 27X, Even though %37 is n1wX1 aysa obw 991 abwn,

> When an ox gores and kills (three) people and becomes a 791», and then kills again, the owner is liable to pay 791
to the heirs of the deceased (2,83 [@wdowWn] NMnw).

¥ According to this 7"» if a 1w tramples a child to death while walking he is liable to pay 1212

9321 07X never pay 7912 (a person who kills either gets killed or goes to M3, etc.; M2 is 71v» for killing a man [ 1w
a78 X71]), and 17p pays only after it becomes a 7vn.

2 mpoin does not answer here what he answered previously by Jw, that m?w "y p>1n 121 P 1A QTR 2°1NT7 IR NV
77°v3; for that answer is valid only when the & is a X120 (like W is 7p°T72 7817 w°) it is not a X7 in 17, then we
can argue that the X120 of 121 »¥X1 nY is stronger than the X720 of nX37 w°. However here by 237 it is a X117 in 7
(that anwx" oo 1913 oPwn) then it is a valid X379, for a X120 is not stronger than a 7. See (TIXT) X"wAna. See
IR 717 R,7"D 1P Moo,

% 9" maintains that P1°I7 JXM3a 7P pays a 9w P (even) the first time; he derives it from a 1"p. Accordingly if a an
killed a person in the P37 2% he will pay a 2w 7912,
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nevertheless if we maintains like v"9 that (P37 9%n2) o%w 9910 o%wn an, we can
derive that 931 is also w7pn2a Mwd.

If one 1s P17 the 170 of a 372 he has to pay the 179 (but not if he is P> his own
amN).

THINKING IT OVER

1. m90n asks that we can derive that 779 is w772 705 from 2o ;% however P
has a X217 that it is 791 0%wn as opposed to P17 TR (as MOOIN asks concerning
deriving 31 since it pays TIWwK1 Qvoa 0o T919)?%

2. Is the law that there is no payment to w7pn for damages, a rule concerning wps,
that Wi does not have the ‘right’ to claim damages; or is it a rule concerning the
o°p>in, that they are exempt from paying damages to w7pi?”’

7 See footnote # 16.
% See (X,7 A7) 2" and (X,7 A7) K> MK 7"20.
2 See X1 MR 1" WM.
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